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® 3 @1+ 3 ® 2+ V3
@ 5 ® 2+2v3

1< V3<20]B2
“a=1,b=V3-1
“2a+b=2+V3-1=+V3+1




& a2 &, a(a+ 10)

-5 °] gr& Fatolet.

5< V27 <60|B2 g=+27-5

a+5= V27

o) eputs Ao

a® +10a + 25 = 27

a? +10a = 2
a(a + 10)

-5=a’>+10a-5=2-5=

-3
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b
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ojmE Brg §Est Al7|H b= V542

ojtt,

(a-1)x+2(b+3)y+1=049
a=V5-2,b=V5+2E telst¥
(V5-2-1Dx+2(V6+2+3)y+1=0
A2l5lE (V5 -3)x+2(V5+5)y+1=0,
AMSHH x5 — 3x + 2y V5 + 10y + 1 = 0 °]c}.
(FE) + (F5) =0 olB2=

(F24) =0, (F25) = 0 o] = ojof gict
xV5+2yV5E =0, -3x+ 10y+ 1 =0 °o|2&
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D -1+2v2 @ -2+242 ® -2+442
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1<V2<20|B2a=1b=+V2-1

2a% +5b =2x12+5x%x (V2-1)

=2+5V2-5

=-3+5v2




8. 9a2-16b2=-120°0]1 3a—4b =4 & W, 3a + 4b ] S FotH?

® 2 @ 3 ® -2 (Ei)—s ® -5

(3a + 4b)(3a — 4b) = —12
~3a+4b=-3
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x+y= V3, x-y=15

@ V5+ V3 @ 5+ V10 ® Vi0+ V3
@VE+3v3  ® VI5+443

~&B

2=y +3(x+y) = (x+y)(x-y) +3(x+)
=(@x+y)(x-y+3)
= V3(V5+3)
= V15+33




10. 2527 = 16> = 9, 5x + dy = 9 ™), 4y - 5x°) gH& FolH?

-2 @1 o0 @ 1 ® 2

~&B

25x% — 16y? =9, (5x + 4y)(5x—4y) =9
9(bx—4y) =9

ox —4y =1

Sody—bx=-1




11. a+b=2,a*-b*=10 4 W, a-b °] 3= 5tk

a’>-b?>=(a+b)la-b)=2x(a-b)=10
“a-b=5




12, x—-y= V5 & x®—2xy+y? +2x -2y -3 & Zt2?

@D 245 @ 45 ® 1+25
@2+2+5 ® 3425

x2—2xy+y?+2x-2y-3
=(x=y)?+2(x-y) -3
=(V5)2+2x V5-3=2+25




13. x+y=3V2 xy=5% o, x? - 3xy +)29] g+ Fotofet

>

> met: 7

x% - 3xy+y? = (x+y)? - 5xy
= (3V2)2 - 5x5
=18 -25=-7
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ko2t

>
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ab =2, (a+3)(b+3) =20 A
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“a+b=3
w(a+b)—abla+b)=3>-2x3=21
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@0.1732 , 0.05477 @ 0.5477, 0.01732

® 0.1732, 0.001732

B ~

V0.03 = V3% 001 = 1/—03 —0.1732
0003 — 30500001 = Y30 _ g.05477
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D VE+1 @ o VT
@) vi-v2 ® n- V3

@ V7 - V2 =12.646-1.414 = 1.232
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A 0.023 © V230
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@ V23000 = V2.3 x 10% = 100V2.3
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D V2+0.1=1514
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21. AFZTEANA V2 =1.414, V5 =2.236 & o], V20 - (V2 - V5) <
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> Hehl 5.204
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V20 - (V2 - V5) =2V5- V2+ VB
=3V5- V2
= 3x2.236-1.414
= 6.708 — 1.414 = 5.294
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6x2+5x—a=(2x+b)(3x+7) 7t HEZ

© -24 @ -18 ® -10

B

6x% +5x—a = (2x+ b)(3x + 7)
= 6x? + 14x + 3bx + 7b
=6x2+ (14 +3b)x + 7h
14+3b=5, Tbh=-a,b=-3,a=21
ca-b=21-(-3)=24
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> E
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17=2k-3
S k=10

=322+ 17x-6

(3x—1)(x+6) =322+ 18x—x—6




24. 3x*+ (3a+16)x -6 = A2oNSHA (x+ b)(3x—2) 7} Hr}. o,
A a+b o] 327

@ -3 @ -1 @0 @ 2 ® 3

~&B ~

(x+b)(3x—2) =3x* + (-2 + 3b)x — 2b O] B2
3x2 + (=2 +3b)x — 2b = 3x* + (3a + 16)x - 6
—2+43b=3a+16, —2b= -6 L b=3

L a=-3 .a+b=0




25. 2x% +ax+b 2 QAFESSHH (2x+1)(x+1) o] Bt old, a+ b &
T-oFH?

®-5 @5 ® 7 @ -1 @

2x+1D(x+1)=2x>+3x+1
a=3, b=1 La+b=4




26.

¥ +Ax+24 7F (x +a)(x+ b) 2 AFES Aot & of, A4

9gre Autelz})

@ -25 @ -14 ® 10 @ 14 ®)25

~&B

¥ +Ax+24=(x+a)(x+b) A=a+b,24=ab
a=1,b=24°1Ha+b=25
a=2,b=12°"a+b=14
a=3,b=8°"a+b=11
a=4,b=6°Ha+b=10
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x ol TR oA x2 +ax—157F (x+p)(x +q) =

o groz AgslA) ohe ALY

® 14 @ -14 @—8

@ 2

~&B

x> +ax—15= (x+p)(x+q)

-15=> -3x5->a=-3+5=2,
_15=3x(-5) >a=3-5=-2
152 (1) x15sa=-1+15=14
155 1x(-15) sa=1-15=-14




28. x= V3+V2,y= V3- V2 4 o, JA5E3| FAZ o]-goto] 12— y?
o] k& ool

x+y=(V3+ v2)+ (V3-V2) =23,

v = (VB VB) - (VB - V3) =243
2=y =(x+y)(x-y) =2V3x2V2 =46
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a® + 4a
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2+1=3+22
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a’*+4a+4=(a+2)?
=(V2-1+2)
=(V2+1)?
=242V2+1
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31. a=175 b=0.25 <%, a® - 6ab + 9b> 9 FH L5H?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b? = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




32. a= 3+ V3 b= V3- V3 L U, & +b22] Fe Fajolet
> =

> =g 10

~&B

a® + b= (a+b)* - 2ab
= (V3+ VZ+ V3-V2)’
~2(V3+ V2)(V3- V2)

— (2v8)"-2x(3-2)
=12-2
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a=V3+3,b=5-V2,c=4

D a<b<c @ b<a<c @b<c<a

@ c<a<b ® c<b<a

b—c=(5-V2)-4=1-4V2<0,b<c
a-c=(V3+3)-4=V3-1>0,a>c
Sb<c<a
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@ A @B ® C
@ A=C ® A=B=C

~&B

A-B=(V5+V3)-(V6+1)=V3-1>0
.A>B

A-C=(V5+V3)-(3+ V3)=V6-3<0
LA<C

webA B < A < C ©|th
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@ b<c<a @c<a<b

B *

l<a<?2o0]1

-V9<-V8< -4
4-V9<4-\8<4- V4

L 1<4-8<2

Ll<e<?2

a-c={4-VI)—(4-V8) = V8- V7>0
a>c¢c

c<a<b
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A= VI9- VI3, B = V21 - VI, C = V33 -3
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[> et A<B<C
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A, B, CEREkrolng 425 p2 o|H g > p o|Th
A? - B2

= (V19 - VI3)? - (V21 - V1I)?

= (19— 2V247 4+ 13) — (21 - 2231 + 11)
—24/247 + 2231 < 0

. A2<B?2e A<B

B2—02

= (V21 - V11)% - (V23 - 3)?

= (21 -2V231+11) - (23 -6V23 4+ 9)

= —2253 + 6 V23 = —2V253 + 2207 < 0
. B2<(C?2eB<C
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42. (2a-3b+1)?2-(2a+3b-1)>=8a(Aa+Bb+C) d W, A+B-C
= F-shofzt.

>

[> Hell A+B-C=-4

2a-3b+1=X, 2a+3b-1=Y= X25}H
(2a-3b+1)2 - (2a+3b-1)?
=X’-YV’=(X+Y)(X-Y)

= 4a (-6b+ 2)

=8a(-3b+1)

L A+B-C=0+(-3)-1=-4
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(2x 43y + 1)% = (x = 3y — 2)? & Qlofistd?

> E.

> HED Bx-1)(x+6y+3)

B

2x+3y+1=A, x—3y—2=B=E X335}H
(2x + 3y +1)% = (x — 3y — 2)?
—A2-B2=(A+B)(A-B)
=Bx—-1)(x+6y+3)
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o] gt& Fsfolel.

> E.

> Het: be—a= -6

~&B

(2x-1)2-9=(2x-1+3)(2x-1-3)
= (2x+2)(2x—4)
A+ 1)(x=2)
a(x+b)(x+c)
a=4,b=1,c=-2
Sobc-a=-2-4=-6
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(x=3+y+3)(x-3-y
=(x+y)(x-y-6)

=2x-6
X+y+x—-y-—-6
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46. 3(a+1)2+ (a+1)(b-1)-2(b-1)2L Q15Es|5tH?

> = (a+b)(3a—2b+5)

a+1=A, b—1=B= A35}H
3a+1)2+ (a+1)(b-1)-2(b—1)2
= 3A% + AB - 2B?

= (A+B)(3A-2B)
=(a+b)(3a—2b+5)




47. a* -4a+3 & A5E shol

> E

> HED (@®+a-3)(a-1)

~&B

a® —4a+3
=a’—a’+a’>—4a+3
=d?(a-1)+(a-3)(a-1)
=(a®+a-3)(a-1)




48. 2(x+2)% + (x+2)(3x—1) = 3x - 1)2 = —(ax + b)(cx +d) L W,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1
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@0 AFEL00/22 17
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56. thaollA x 9] ghe F-stofzt.

V2,52 = V7 9 x ot}

— 252 22><32><7
PP = 100
6 3
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57. VITI= a3, /O = bVES ul, 4214 a. b ol stel ab ©) G
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59. 0.002=AV5 ¥ 1, A & F5}todet.
> £

> EHE A= —

ViR = (-2 V20 _2V5_ 5
U V10000 100 ¢ 100 50




60. Vox3va=15, V3x Vb=6, V243 =cV3 & u, G2l a,b,c
9Ol F abe 9 7427

54
o0 @ 0L @36 61

15 15
3Va= g Vi = = =\
LLa=>5
Vo= —ovE= V3

V3
L b=12
S

100 10
o9
..C—E
.‘.abc:5x12x3:54
10




61. VoxavG—18 . VEx vb—15 . VIZ8 — «/§+§ o o, e %

27 F2 A2
D a<c @ axc<b ® b<a?+c?
a 1
Ga<y ®:<;
V6 x a6 =18
1 8% 1
S18s VE= 2 o JIEXIS s 346
NG 6
V5 x Vb =15
15 15 x 15
15+ V5= —= = V45
\5 5
10
W2=f+?
—>x/128;\/§x10—\/@xix10—\/6_—8
o V1007 V2 B N

b g =3, b=45 ¢ =8°|E&

D3<8—>a<c

@3x8<45 »axc<b

®45<9+64 > b<a’®+c?

@)3<§—>a<[Z
8 c

1 3 1 a
S — — o)
Op<g~p<:lt




62. V0.96 2 V6 2] x vjoltt. o] uff, x o] gre?

1 2 8 12
o: @ ® 5 ® 5

96 426 4 2
V096= /350 = V1z = o V6=35V6
2

X =
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63.

O0<x<l1l, —2<y<-14¢0, 4

V)2 + V/(x+y)2 —dxy — /(x—y)? + 4xy

® -xy (@)2x—xy
@ 2y - xy ® x-xy

® 2x+ xy

V(x+y)2—dxy = /x2 = 2xy+y?
= V(x-y)?
\/(x—y)2+4xy: \/)c2—|—2xy—|—y2
- JErypelne
(FA1) = oyl + be =yl = e+
=—Xxy+x-—-y+x+y
= 2x—xy
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64. —§<x<O°a1‘1H, T+ 4x + 4x2— Va2 + Va2 — 4x + 4 & F5}oda},
B

| 2
> Heh: 2x+3

B \
VTG a2 - Ve + V& —dx T

= /(14+2x)2+x+ /(x—2)2

=(14+2x)+x-(x-2)

=2x+3




